MoHax XuBeT nof ropon. Kaxxgoe yTpo OH BCTaeT, MOJIUTCA, 3aTEM BECb

OeHb NOET Ha ropy B Xpam 1 Be4epoM MOonnTcsa Tam. J1oxXutca cnatb. YTPOM
NpocCbINaeTcd, MONMNTCA B XpaMe Ha rope, a 3atemMm naeTt BeCb AeHb JOMOU C ropbil
No Ton Xe camoun gopore. [Npnyem n tyga n obpartHo (M Ha ropy 1 B ropy) MoHax
MOET NPOU3BONbHLIM TEMMNOM. Bonpoc: HangeTca nNu Takaga TovKa Ha ero nNyTu,
roe oH OydeTt n B nepBbIN U BO BTOPOW AEHb B O4HO U TO XXe BpemMsa?

[eomeTpuna JlobaueBCcKoro [aycc

EBknva

Because in both circumstances the monk is using the
same road, he inevitably crosses his own path - if you
represent his journeys as diafilms and turn on both

(upwards and downwards) at the same time, you can see
the point in time were they meet each other

3 nyHkTa A B NyYHKT b Bblexanu Benocmneguct,
MOTOLMKIUCT, noe3n, aBTomobunb, aBTobyc,

TPaKTOp, MYKeBas NMoBo3Ka, NOaynpuuen U KaTok.
YTO-TO HEBEPOATHO MHTEPECHOE MPOUCXOAUT B NyHKTe b!




